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MATH 2030 — Combinatorics 1
Quiz 2

Answer all questions and show all your work. (Total Marks: 20)

You have 20 minutes to complete the quiz.

1. (8 points) An athlete is in training for 30 (consecutive) days. She will train at
least once a day. At the end of the 30 days, her average number of training
sessions will not be above 1.5 times a day. Show that there are consecutive days

where she trained a total of 13 times.
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2. (12 points) There is a town called Squaresville that will be having an election.
They will elect a representative in each of their 4 wards. The representatives will
come from one of the 4 political parties (Party A, Party B, Party C, and Party D).
The wards suffer from rivalry, and would prefer to not have a representative from
the same political party as either of the two neighbouring wards. How many ways
can the people of Squaresville elect representatives so that neighbouring wards

have different party affiliations?
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